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{ A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the
average went up by 2 yr. Find the actual average
age of the class.
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Roll No. ngg kW log
Total No. of Printed Pages—8
. 510 R/E

( Regular/Ex-Regular )
BIO (Section—B : Z0O0)

(Science)

[ As per 2018 and 2019 Syllabi |

( For Students registered in 2016 and 2017 )

2019 (A)
SCIENCE

BIOLOGY
(SECTION—B : ZOOLOGY) -

Full Marks : 35
Time : 1% hours_

The figures in the n'ght-hand margin indicatg marks
A6l aigjear gl A6l gge miie Joiag
Answer all questions serially and continuously Jrom

Group—A and Group—B as per instructions, and any
two from Group—C within 200 words each

@ G ¢ FRIFR A8 g AeR FAIRA6R 6 PROPR AIER
e G1-QRleIQ 6U6wId gRER AAR JERIRE 900 §R
| ANER @2

lllustrate your answers with labelled diagrams gnd
examples, wherever necessary .

ZIedie g6w QTS 66 6 RVLRE @8

/239-D  ( Turn Over )
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SECTION—B

( Zoology )
Full Marks : 35

Time : 1% hours -

given under each bit/Give
one word only : l><5 S

JeSia 2°geq @alaxaem 99@ Q- oca aaas'
Q2/6NTY Gnsq AR G .

(@) What is the d1p101d chromosome numpber

In a person suffermg from Down
syndrome? -

‘B9 ANEATRA’ Qial 2R3 4G9
Y69R e 6a60 7

498ie
(45 / ¥8&
(i) 46 | ¥9

(iii) 47 | ¥9

(iv)_ 48 | ¥r
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() What is the name of the scientist who
cloned a sheep named Dolly?

o AR @ AR gPQaIeRs @bl
CHRIVIER QA '€ ?

(c) Colostrum is rich in which type of
antibody? '

QAQUCR 62 90T 2 adile aBealg ?
(d) Graafian follicle is observed in the ovary
of '
YTUQ TR QUG SUSAER CREIAN ?
() Rohu
T i@

(i) Amphioxus

c

2lIfRIQAQ

(iii) Salamander

deiea

(iv) Human

Al
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fe) Which one is not a terminal birth control

method? o
codd 9@ 280 JRRIQ eAIRe JFY 9627

(i) Vasectomy
@IeAcI¢l
(i) Tubectomy
Q6
(iii) Hysterectomy
Q6a606QI4
(iv) Copper-T
. QUe-8 |
2. Fill in the blanks with correct answer(s)/

Correct the underlined portlon of the
sentences : _ 1x5=5

a0q @eaq B0 gaigie 9ad @Q/quea 6QEITE
28 O 99 : -

(a) Recapitulation theory Was_ postulated by

geIRRIQ QUYL *ACl6M |

(b) In honeybee, the process of development
of male bee without fertilization is
termed as swarming.

AAIRER AR QegR gearEa S
gRap goa Q@IQI\'] |
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(c) Plasmodium vivax causes cerebral
malaria.

Plasmodium vivax gagsia  queadel
QAN |

(d) The full form of ELISA is \
ELISA @ 9@l Qlfl 6208 |

(e) Cancer of muscle is named as

6USIER 6202R RIFARR FIFl 6208 |

~ GROUP—B
| g—Gas
3. Answer any three of the following- (restrict

each answer to 2 or 3 important sentences) :

| _ 2Y4x3=TY
cAENAT T6RIT ggR QAR G2 (g6oie aaa 9 <!
N3 gRQYd SIMER AIFE QF) -

(a) What is fossil?
Q1Y @617

(b) What is an’tibodjr?
Jods @'817? '



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

1 SUIIVIWUILIUL, I
(c) Write a note on queen bee.

QI ﬂgﬂlﬁ QU6Q 66lIGNg Q&N 6mdl |

(d) What is HIV?
Q. Q. @. @4 °?

(e) What is Humulin?

QIR @617

(f/’  What is tubectomy?
QUEQEQIT @41 ?

. Differentiate between any one of the following
pairs (restrict the answer to 3 or 4 important
differences) : e 3%

F6glIe 6QIQ! I colIfea QY Q42 (a@o qaal -
¥5 %}Qqe aidayea Qifie as) = -

(@) Homologous organ and Analogous organ

QGG 26t 6 AGQA AT

(b) T lymphocyte and B lymphocyte -
& REHIAIRC B @ AETIAIRG '

(c) Amoebiasis and Filariasis

2GQl QU B TIRERGI QU
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GROUP—C
—aQlgl

Answer any two questions

(restrict each answer
within 200 words) :

7x2=14

66218d @G g9 aaq & (9604% 99Q @ae 900&
SI9 AYEQ QTG QF) .

S. Describe briefly recombinant DNA technology.
JR8°6AIRT @. Q. . 67169 AFYsa <¢in oq |

6. Write notes on any two of the following : .
| 3Yax2=7
Q6718 66T 9T adeq Sae! 6md :

(@) Biochemical origin of life

6390089 9169109

(b) Turner syndror'ne'
CREQ MIASILC) LA

(0 Human male reproductive system

A8id eeR 0%

(d) Spermiogenesis -

QAT Beneadq
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;

Mlustrate in  detail the process  of
spermatogenesis in human.

ASEQ RIgRes gl afe QUGe Wesa Q4R
Q|

What is sex-linked inheritance? Discuss how
sex-linked gene inheritance occurs in human

giving two examples. |
Al dengl QAQUIIVE) ¢ ? A8 OI6Q Mer Q]Qﬁ)%:ﬂ

@R QRARIFAE AR 9, Qa6 ATHTRN ATE QElQ
@ |

* * K
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